F21 AR ENBRRAY— MU 2 —FAE—R R — bR BE

TERL30E2811H
REREHERER— 48—

1. 1% F500m
Y K % OB (B54) & EbE s =
1 It Fikx N 1 1:13.53
2 FEk HT MEE= 1 1:15.23
2. 15 BF500m
Y K % OB (B54) & EbE s =
1 HKH #BF g H 1 1:01.22
2 EE HE g el 1 1:03.69
3 JIlE JF=zAN NEE= 1 1:03.78
4 uO FE [Eaf:il 1 1:13.96
5 BERE &M R el 1 1:14.08
6 MWE I1E i 1 1:23.00
7 IBE #H NGB 1 1:59.92
3. 25 & F500m
Y K % OB (B54) & EbE s =
1 e BiEE i dE] 2 0:57.42
2 FHE B s 2 1:06.15
3 ER HM B FHIREER 2 1:09.23
4 MR BREk NEE= 2 1:09.43
5 [EE LREF NGB 2 1:09.62
6 Il [F5% EHER 2 1:10.82
7 WBH EF N 2 1:11.58
8 TER WIE N 2 1:12.53
9 BRE E s 2 1:24.46
10 i XD NEE= 2 1:28.36
=R BRI 2 E E
4. 25 BF500m
Y K % OB (B54) & EbE s =
1 Bl A% NEFE— 2 0:58.05
2 & KE NEE— 2 0:59.42
3 dus H{Z L&l 2 1:14.19
4 FHH EA g el 2 1:17.13
5 FE HE INGE 2 1:19.31



5. 645E & F500m

Y K % OB (B54) & EbE s =
1 BN % i 6 04317
2 il BEHE s 6 0:47.81
3 EFE X R34 6 0:48.23
4 ER EE N 6 0:51.11
5 Ef L& N 6 0:52.05
6 $EB G EHER 6 1:00.49
7 S BEZE B HIRAER 6 1:03.27
6. 64 5B F500m
Y K % OB (B54) & EbE s =
1 {ERK #HIZ i dE] 6 0:45.39
2 M KR s 6 0:46.57
3 SH Tt/ s 6 0:46.71
4 BH F— B FHIREER 6 0:47.88
5 B BgA NEE= 6 0:48.07
6 Rk ik NEE= 6 0:48.43
7 BRE #h&E g el 6 0:48.84
8 b Eitt EHER 6 0:48.95
9 [MAX H s 6 0:48.96
10 FE FEX g el 6 0:49.12
1 Fh —EF g el 6 0:49.20
12 K & N 6 0:49.37
13 FHith kiF g el 6 0:49.49
14 R BEZ NEE= 6 0:49.94
15 IR BE EATE 6 0:50.04
16 Fith IR EHER 6 0:50.85
17 &R #A N 6 0:51.14
18 rhIE X#H] g el 6 0:53.24
19 HH EBZE g el 6 0:54.52
20 #EE X g el 6 0:55.66
21 Il X EHER 6 0:56.82
22 H4 f=E B HIRAEER 6 1:00.04
23 {FiE MEE= 6 1:03.74
TEH FE B FHIREER 6 E E
7. 5% & F500m
Y - OB (B54) & EbE s =
1 HE % i dE] 5 0:49.22
2 THE BE s 5 0:49.73
3 ¥EH #HFFH NEE= 5 0:49.77
4  #HK FTE AHO 5 0:53.84
5 WHF @EETE N 5 0:54.47



8. 54F B F500m

i K % i S EbE B =
1 =% BE HE 5 0:46.27
2 SH @ NEE— 5 0:48.12
3 HHE & g e 5 0:48.24
4 FEHR EX = 5 0:48.51
5 dtiFE £t BERE 5 0:48.66
6 TR FF N 5 0:48.98
7 INE EA BHIREE 5 0:49.06
8 FHH B N 5 0:50.06
9 tEHE 1A B HIRAER 5 0:50.96
10 /Nt &S N 5 0:51.63
11 #HE BA BERE 5 0:53.60
12 &R it NG 5 0:54.24
13 EE EE N 5 0:55.13
14 L A BHIRPE 5 1:05.75
K EX 1EATE 5 E E
9. 45 F500m
Y K % OB (B54) & EbE B =
1 FE B NEE= 4 0:50.95
2 *”%%7’1 NEE— 4 0:50.96
3 iﬁ BER g el 4 0:57.52
4 KR #BE B FHIRBER 4 0:57.97
5 ®JIl &5 EHER 4 1:10.90
6 S £F B HIRAEER 4 1:12.40
7 RE XF BHIREER 4 1:16.06
10. 45 B F500m
Y K % OB (B54) & EbE B =
1 ¥iE Kig ﬁ#ﬂzﬁ 4 0:51.67
2 RE = FA 4 0:52.15
3 e = NEE= 4 0:52.33
4 BREZE MR NEE= 4 0:53.98
5 HH #X g e 4 0:57.16
6 =k SH NEE= 4 0:57.31
1 B RF R el 4 0:58.67
8 MH =F N 4 0:59.42
9 hE I8 NEE— 4 0:59.85
10 FhIg jti’m N 4 1:02.69
11 hE FE EHER 4 1:16.18



11. 34X F500m

Y K % OB (B54) & EbE B =
1 ® X&E i dE] 3 0:57.35
2 HhE FIER s 3 0:59.75
3 BBl TEE | 3 0:59.83
4 HHF LB NEE— 3 1:00.13
5 BJa EBF s 3 1:04.86
6 /MNAR RAH BHIREE 3 1:05.36
7 INME FiR EHER 3 1:14.85
8 TER ¥E=x N 3 1:18.30
e NE B 3 E E
12. 35 BB F500m
Y K % OB (B54) & EbE B =
1 {FiE KR LN 3 0:50.69
2 tEaRK RHE [FaRsaE] 3 0:54.36
3 Hi HEER EHER 3 0:57.03
4 HEEH HF B FHIREER 3 0:57.81
5 g FiiE NEE= 3 0:58.11
6 Zith BB g el 3 0:59.28
7 L @—ER NEE= 3 1:00.22
8 INR EIL NEE= 3 1:00.67
9 R IR NEE= 3 1:01.27
10 WA ¥ [Eaf:il 3 1:09.36
11 MR &K EHER 3 1:12.36
12 SRE B g el 3 1:26.89
13. E!R100m
Y K % OB (B54) & EbE B =
1 SREZE EKZE JNER 0:16.12
2 ®HHF KB NER 0:19.86
3 TR KER 2FF 0:20.54
4 7 K LR 0:22.91
5 HH FM INER 0:25.73
6 LUg %3 NER 0:25.87
7 HHF IBE [FaR5EES 0:31.61
8 FHH /O [FaR5EES 0:34.24
9 thHE BB INER 0:03.69
10 BE#H Xi2 BHRY 0:43.82
11 SRE &3 [FaR5EES 0:46.84
12 FIE EERE INER 0:47.88
13 HH fE NER 0:57.27
14 SH BE NER 2:22.05



14. 65 B F1500m

Y K % OB (B54) & EbE B =
1 {ERK #HZ i dE] 6 2:17.47
2 M KR s 6 2:27.29
3 mE FEX g el 6 2:29.62
4 B BA NEE= 6 2:29.69
5 BRE #Hh&E g el 6 2:33.14
6 R BEE NEE= 6 2:34.02
17 FHM —E g el 6 2:34.21
8 SH &/ s 6 2:34.57
9 B #— B FHIREER 6 2:35.67
10 ik TR NEE= 6 2:37.84
11 K & N 6 2:40.06
12 Hh EiE EHER 6 2:40.76
13 FHith kiF g el 6 2:45.88
14 &R #A N 6 2:46.18
15 IR BE EATE 6 2:46.69
16 FHH EZE g el 6 2:52.37
17 it IR: EHER 6 2:58.29
18 #E& X g el 6 3:02.85
19 dJil &KX EHER 6 3:04.20
20 H4 F=E B HIRAEER 6 3:06.64
21 fhlg XK g el 6 3:12.89
22 {FiE MEE= 6 3:26.39
TEH FlE B FHIREER 6 E E
15. 54 B F1500m
Y K % i (B54) & EbE B =
1 =% BE HE 5 2:38.06
2 HHE & g e 5 2:38.79
3 TR EF N 5 2:38.94
4 FEHR EX = 5 2:39.45
5 SH @ NEE— 5 2:40.84
6 INE EA BHIREE 5 2:40.99
7 dLiE EH BERE 5 2:47.85
8 FHH B N 5 2:51.14
9 JH BA BERE 5 2:58.01
10 /Mt &S N 5 3:01.75
11 R it NG 5 3:04.32
12 EEZE EE N 5 3:18.11
13 W A BHIRPE 5 4:03.05
K EX 1EATE 5 E E
HHE hE B HIRAER 5 E E



16. 4 B F1500m

Y K % OB (B54) & EbE s =
1 ¥iE Kig i dE] 4 2:48.00
2 e 1= NEE= 4 2:48.80
3 H& = FA 4 3:00.90
4 BREZE MR NEE= 4 3:03.75
5 =k STH NEE= 4 3:14.40
6 EHH X g e 4 3:17.25
1 B RE R el 4 3:17.76
8 mE I8 NEE— 4 3:24.97
9 rIE Kih N 4 3:25.17
10 HH#F =57 N 4 3:32.96
11 hE FE EHER 4 4:27.17
17. 1% F300m
Y K % OB (B54) & EbE s =
1 It Fikx N 1 0:42.84
18. 15 8F300m
Y K % OB (B54) & EbE s =
1 EE #%hE el 1 0:38.17
2 HHE BFE g e 1 0:39.02
3 Ik JFzAN NEE= 1 0:39.27
4 uO FE [Eaf:il 1 0:44.56
5 BERE &M R el 1 0:45.49
6 HHF FEA NEE— 1 0:46.44
7 #ME & s 1 0:48.07
8 HH &= NEE— 1 1:04.70
9 IBHE #H NGB 1 1:09.25
19. 24 &L F300m
Y K % OB (B54) & EbE s =
1 e BiEE i dE] 2 0:38.96
2 FHE B s 2 0:41.84
3 il [F5% EHER 2 0:42.78
4 TER HIE N 2 0:43.08
5 [EE LREF NGB 2 0:43.31
6 WH EF N 2 0:45.46
7 INE OBRE% NEE= 2 0:45.95
8 E[R H B FHIREER 2 0:46.92
9 BRE E s 2 0:47.27
10 & XD NEE= 2 0:53.47
=R BRI 2 E E



20. 24 B F300m

Y K % OB (B54) & EbE s =
1 A A% NEFE— 2 0:38.57
2 R KE NEE— 2 0:38.80
3 dus H{Z L&l 2 0:45.30
4 FHH EA g el 2 0:47.90
5 #nE B2 NGB 2 0:52.64
21. 65X F1000m
Y K % OB (B54) & EbE s =
1 gl %&£ 3ih) 6 1:32.81 ZE0sR
2 il BEHE s 6 1:45.13
3 EFE X i 6 1:50.18
4 EFEF OLE N 6 1:53.09
5 &R ER N 6 1:55.30
6 $EB G EHER 6 2:17.20
7 SF BEE B HIRAER 6 2:21.67
22, 55X F1000m
Y - OB (B54) & EbE s =
1 FZiE BE i dE] 5 1:48.94
2 FHE E s 5 1:49.43
3 ¥EH #HFH NEE= 5 1:49.55
4 #HK FTE AHO 5 1:59.38
5 WH @EETE N 5 2:00.79
23. 45X F1000m
Y K % OB (B54) & EbE s =
1 FE B NEE= 4 1:50.87
2 R BN NEE— 4 2:00.93
3 EE EF g el 4 2:08.24
4 KR #BE BHIRPE 4 2:10.23
5 ®JIl &5 EHER 4 2:39.68
6 S £F B HIRAEER 4 2:40.11
7 RE XF BHIREER 4 2:48.40
24. 3FEZF1000m
Y K % OB (B54) & EbE s =
1 ® X&E i dE] 3 1:49.15
2 B TEE | 3 1:54.87
3 HH LE NEE— 3 1:54.97
4 HhE FHR s 3 1:55.21
5 IMNMAR RA BHIREE 3 2:12.30
6 B EFH s 3 2:15.47
7 INME FiR EHER 3 2:28.63
8 TER ¥E=x N 3 2:41.14



25. 3EBF1000m

Y K % OB (B54) & 25k &
1 {FiE KR LN 3 1:50.37
2 {EaK RHE s 3 1:50.77
3 THEH HF B FHIREER 3 1:56.74
4 H HEER EHER 3 2:01.12
5 WA F3 [Eaf:il 3 2:03.37
6 Zith BB g el 3 2:05.11
7 R ODER NEE= 3 2:05.66
8 LU FiiE NEE= 3 2:06.71
9 JIlE ¥@—&pR NEE= 3 2:13.34
10 /Nj EIL NEE= 3 2:16.93
11 MR &K EHER 3 2:44.71
12 SRE B g el 3 3:17.39



	競技結果

